1.2.4.
Lösen von Prozentaufgaben mit dem Dreisatz


Wieviel kg sind
Wieviel % sind 
7% entsprechen 42DM.


12% von 800kg?
450kg von 1500kg?
Wie groß ist G?


ges.: W
ges.: p
ges.: G


geg.: p = 12
geg.: W = 450kg
geg.: W = 42DM


        G = 800kg
         G = 1500kg
          p = 7


1. Satz
1. Satz
1. Satz


100% sind 800kg.
100% sind 1500kg.
7% sind 42DM.


2. Satz
2. Satz
2. Satz


1% sind 
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kg = 8kg.
1% sind 
[image: image2.wmf]100

1500

kg = 15kg.
1% sind 
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42

DM = 6DM.


3. Satz
3. Satz
3. Satz


12% sind 12·8kg = 96kg.
450kg sind 450:15kg = 30%
100% sind 6DM·100 = 600DM
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